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Group-A
feem-
MARKS: 50
"["ﬁlﬁ: ¢o

1. Answer any three questions from the following: 4x3=12

e @-@I feafe e Teg wie:

%{a) Construct and explain the shape of a set of indifference curve with
automobile rides and air pollution as two commodities for a society that
likes automobile rides but dislikes air pollution.

@ e ioeenfS vut Sferee e Ay YR SWietes G 9% I WY
[BRiskIGRICE SRl



Sc./Part-I/Hons/ECOA-1/2017

(b) Suppose labour is the only variable factor of production, calculate the
average variable cost when average productivity of labour is 15 units and
wage is Rs. 60.

A AL, BT GF NG ARIETNE Tty 21 W) 3 W 51T BesAwe 15
TG 21, IR TGAF A T Rs. 60, OTR 1S ARAETAe 3731 fefy e |

\/(,c’j In a two commodity world let the demand function for X; .be
X, = AP" P M°. Find out own price elasticity, cross price elasticity and
income elasticity of demand for X.
i JR WIS X, WA SifRwt Suorwl @1 X, = APY P2 Me. w3iiba vftwm
foe wrsre fEfeogiomrel, s wwee mﬁmﬂw aR S FEfeRTon
wF ey 3@

Jd) Define ‘Consumers Surplus’ and show it graphically.
‘(OTEIR TYE’- 93 W 7S G =R GIF (7G|

(e) Distinguish between returns to a variable factor and returns to scale.

Gl ARG Torareae efen 8 el AfRdTufre afewnima i
NG|

2. Answer any one question from the following:
fsfeiRe -t 9 fo efvam T we:

(a) Explain the derivation of an Engel curve from an Income Consumption
Curve. What does an Eagel Curve for an inferior goods look like? Show tl?at
the Income Consumgtion Curve of a consumet is a straight line if his uttlity

function is given by u = q;" q,, where > 0.

E-Cots @A fofers feia qme @At ol 787 ¢ I AT WAF AT
@ B (w0 TR 9 (e (@ (OISR Traiet s W u =g/ q, T,
I @ > 0, STZCE (RS (F SHF-C1s! I T

Ny
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(b) From the isoquant map of a fixed coefficient production function with 8

a
marginal product and the average product curves. Comment on their shapes.

.| L K .
constant returns to scale, Q:mm{—, ?}, derive the total product,

Teere Fm efewe @k 7 2ot REE Seowa werss Q= minF, lﬂ -&3

a
AT AT (U (5 Beotwe, 2 Teoiwn 13e 515 Teotwe @t i s
(c) (i) Under what condition will the long-run industry supply curve be 6

negatively sloped though every firm in the perfectly competitive market
has rising marginal cost curve?

s R @A B oy 3= sk 21 o oo
SR LTFTO P eI I 4TS GIAE 2 9

(i) Can super normal profit exist in long-run for a perfectly competitive 2
market? ‘
o aferiergee TR CFE, AR CFg wiefie Jren a9y
A9 ?
3. Answer any two questions from the following: 15x2=30
e @-e 7f6 @t Tea wes

(a) (I) Consider a consumer who spends a given budget M on two 4+4+4+3
commodities, X and Y, the prices of which are given as Pyand Py.

Draw and explain the shapes of the consumer’s budget line in each of
the following cases:

@ TF GFE (OIS 4o ¥ X @R V-7 ot fAAR e’ M I IR
T TG Py 9% Py| (SIEH et @ Feleie craefars
RIS &S A

(i) X is a necessary goods which is rationed so that no more than a given
amount is available.

X~ LTEAT 73 9R @mwﬁfﬁﬂﬁmm@?rmmu
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(ii) The consumer has already spend one-third of his budget on X and
another one-third on Y and allocates the remaining amount on both X
and Y.

AEET GF-PERA X-93 Toig @R 9F-POIRN Y-97 Toig 7 341 T
(IR AP ORH X @R Y TSR 7 T A

(ii1) A unit tax ‘f’ is imposed on X and an ad velorem subsidy at rate ‘s’ is
givenon Y.

X-93 BoF < @FF T RIS I T GR Y-97 o7 5° A T e
TAGS! (RS T

(II) Find the income elasticity of demand for a commodity for which the
equation of an Engel Curve is givenas X = VM .

R I @ TR G @A TNl 77 X = 20/ M, waida vifkwE
were e 1w fada 3t
\}W (1) With one variable factor of production identify the three stages of

production, in the short-run and hence explain why efficient production
takes place at the second stage.

@3 ARRETNA TAMTTR ACATF THIE oo foalo =i e
FA, G 2R PR IR (@ W G o o 23 9
(i1) Why do isoquants have positively sloped regions while indifference
curves do not? Explain the role played by ‘ridge lines’ in eliminating
this positively sloped regions.
TARTor® (IR CFTE TSI A ZCENS FHLAMA @R CFG (I S BIef 79 9
G {AIS DIERIAE St Aifee T (vt fiw e i iRl et

(c) (1) Why the Long-run average cost curve of a firm is called ‘envelope
curve’ of the Short-run average cost curves?

A AT I @UWE @4 FFIA G I (@i qarssst @4r =1
;Y

(i1) How can you derive long-run marginal cost curve of a firm? Explain
graphically.
g |

8+7

8+7
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.(9/ (1) Explain the theory of revealed preference clearly stating the underlying
assumptions.

(IBRYS ~Ixew STea 1K Sainafer ey af e we

(i1) A consumer purchases q; = 20, q, = 10 at prices p; = 2, p, = 6. Later on,
it is observed that he purchases those two goods q; = 18, q2 = 4, at prices
p1 = 3, p2 = 5. Is this behaviour consistent with the axioms of revealed
preference?

QTG (TS T b ¥ T FTF, I WIN 8 2R T q; = 20, 2 = 10 4R
p1 =2, p2 = 61 *F (RAL(SIE, (37 @ B ¥y (I T ~{FAF ¢ "W & q) = 18,
Q =4, 9% p; =3, p; = 5! O 9T 639 T (MEATS ™ TG AR

X AT 9
A Group-B
et
MARKS: 50
sfx: eo
4. Answer any three questions from the following:
falere @-rAt foafb arim Tea wies

(a) What are intermediate goods? How these are dealt with by the value added
method of measuring Gross Domestic Product (GDP)?

TRE FAPHZ T A 9 (W6 T epeAe Gedima wAfFwe I @
HATZE T RIS mfors fFeia 431 T AMWS 9

(b) How is unemployment rate related to change in GDP?
AL T 6 (Wb GO SN TeoATR /7 fFoia 7=ie e ¢

(c) How can a positively sloped LM Schedule be derived from the classical
quantity theory of Money?

I e ARuw $ed A Re AR v & LM @4 s s
¥ ?

035 ' : 5

7+8

4x3=12

2+2
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1at is meant by inflationary gap in simple Keynesian Model? ¢
A (R WCere e T e B Qa2
(e) Explain why planned investment must equal planned saving for equilibrium ¢

in commodity market.
3R GRS SR T cfieie [ 31 @ sfise Twem o=

MRICEWCEICICDRAVEIENEIC N
)’,\‘) What is meant by neutrality of money? - 4
THR SR ! 7610 e 2 .
| !
5. Answer any one question from the following: ' : | ‘\—,’\ ¢ o1=8
Pt G-t @3T8 oo B e '
(a) Derive aggregate demand curve from IS-LM model. ! 7 8

IS-LM WSTE3 A Fias 5ifEwt @ o st

_{b) Write a note on ‘Crowding out phenomenon on Fiscal Expanion’. 8
T TRPTATR SR FTefe SITh erormive HfafHe” fuwa Bt e
e
6. Answer any e questions from the following: | 5x2=30

e @-i; 4% et Tew wes

\/(a) What is IS curvq"\#’hat are the factors that determine the slope of the IS 3+5+7
curve? Give the loanable fund interpretation of the IS curve.

Ivmm«aﬂswwmﬁﬁmﬁmﬁﬁﬁwwmﬂwﬁﬂw |
IS 1R i T |

(b) State the Balance Budget Th=orem. Why is the value of balanced budget 4+8+]

multiplier in IS-LM model usually less than that in Keynesian Model? When
these two-are equal?

JETT WG O RIS I N @AY WEEE A [S-LM N
JTEAISTE JTAD QR T FIFE T G (F 7 FARX QU0 A A ZI P

1035 - 6
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&) Write a note on relative effectiveness of Fiscal and Monetary Policy as

demand management policies during the different phases of the economy.

weRfea Rfen e oidwe agemm Remne A ¢ wifde Mo e
Il faca Bt s

(d) Consider a complete Keynesian Model and explain how output,

1035

employment, price level and rate of interest are determined in it. Examine
the impact of a change in investment expenditure on the equilibrium value
of these variables.

ool PEANY TroTe Bestw, Rivcns, wies @ o 79 e fRdive
T et R e AR w1 SEfie el ey wieee et
RS 2 Ol I IR

15
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and adhere to the word limit as practicable. e ©GF FRE

Use Separate Answer Book for each Group.
&HfSf5 fFeiena oy o T8791a JIYT I
Gr\bup-A
1. Answer any three questions from the following:

ffeRe @-@a faft ez Tea wies

(a) Distinguish between discrete variable and continuous variable.

fifoea vere @ iffvRm Seicera W “iday ot s

(b) Why class boundaries are called real class limits of data of continuous type.
Explain with example.

bR AR STYT CFLT @R ST AT At I 7 (@ 9 Trizgel FIMe!

FEN /
‘ ‘ Calculate Mode:
ESIRER CREURE e
Height (&%) 60-62 | 63-65 | 66-68 | 69-71 | 72-74

Frequency (AfRR3) 5 18 42 27 8

4x3 =12

2+2
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\4 Show that S.D. of first n odd numbers is equal to S.D. of first n even
numbers.

A8 (@ &YW n YT Roe YR T RPfS 2w 4 Y &% TRy T
Rpfea i)
A®) If z=cx+dy, where c and d are constants, then show that Z=cx+d y.

I z=cx+dy W @A IR d G, OTARNSTA z=cx +d J |

1,(‘Q/Given, r,=06,0,=150,=2,x=10,y=20. Calculate regression
equation of (i) xony and (ii) y on x.
meqNBMR r, =0.6,0,=1.5,0,=2,x=10,y =20
(i) y @7 T x @R (ii) x 92 TR y -93 29 @t TRl e

2. Answer any one question from the following:

fsfefe @-@It 9 2o Tea mes

(a) (1) Explain the importance of “selection of base year” in the construction of
Index Number.

e ! Witz ot fofE 3w fidion vz v Jr It
(11) Calculate Index Number for food group.

) Rerem oy @3 spe wa A s
Food Items Weight (%) Percentage increase in 7
(RfSm ) price (YA oFA ) | -
Rice (b1%) 33 180
Wheat (41) 11 202
Dal (%®1%) 08 115
Ghee () 05 212
Oil (co=) 05 175
Spices (M) 03 517
Milk (7¥) 07 260
2

1036
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Fish (WR) 09 426
Vegetable (*I1% 7f%) 09 332
Refreshment (2@91¥ 10 - 279
A1 AW A AT ]

‘,(6 Prove that correlation coefficient  lies between —1 and +1.
S LA (T 7R el 7 HFTH -1 O +1 @3 Ty R IR

Answer any ftwo questions from the following;:

frsfefRe @-coteat 7f6 eam ea we:

1) Prove that AM > GM 2 HM .
2Tl I T AT 7T > BET 51% > R 16

i) Calculate mean and median of the frequency distribution given below.

forsaffe o Reted ez e a3 s w1 Ak i)

Class limits | 130-134

135-139

140-144

145-149

150-154

155-159

160-164

Frequency 5

15

28

24

17

10

(b) (i) Explain “Quartile Deviation” as a measure of dispersion.
Rgfer wifRwi=i® AR “Quartile Deviation”-a I I

(1) The number of runs scored by cricketer A and B during a test series
for each of the 10 innings is shown below.

#2017 A € B-3 1070 e 34 Mes (remi 23

(CATETAIC A)

Cricketer A | 34

36

45|75

12 | 61

40

58 | 82

11

(TS B)

Cricketer B | 47

38

52142

36 | 54

48

34 | 50

54

Make a comparative study of their batting performance.

Tora itk wwer e Fet

AS

(o]

15x2=30

AV 3
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(iif)

() ®

(i)

(d) @)

1036

(i)

(iii)

A distribution has standard deviation 3. Calculate the value of
4" central moment so that the distribution is (1) Mesokurtic,
(2) Platykurtic, (3) Leptokurtic.

@b s e Ryl 3, gl @@ ey ww B 3@ T
fAt4fS (1) Mesokurtic (2) Platykurtic (3) Leptokurtic 21

Explain why S.D. is regarded as superior to other measure of
dispersion.

e RS = sy Rgfew «ifwier care @ azeiaion o

The mean and S.D. of a sample size 10 were found to be 9.5 and 2.5
respectively later on an additional observation became available. It
was 15 and was included with the original sample. Find the mean and
S.D. of the 11 observation.

10 3y RfFE @3l TR oI5 W3 e Ry 3w 9.5 @k 2.51 4@
RS GFH TYA T 1 I AN 151 O 111 TR 1T @R HNE
Erickackie )

For the variables x and y, the two regression lines are obtained
3x+2y-25=0 and 6x+y-30=0.Find

(1) value of y when x = 12 and,

(2) value of x when y = 25.

x 8 y 45 vondd 4 e @At ohem oitg, 3x+2y-25=0
6x+y-30=0 Rfasm

(D) y-RIAFIYEF x = 12 4R

(2) x-9q M I y = 25,

State the limitations of 7, .

F2olf® rsikTen Marworefs & & o

Discuss moving average method of isolating trend from a time series
data.

TN A vt fefcarm Botra R “Bomta ofe”” ot fl wiatisat 3

10

N/
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Group-B

Answer any three questions from the following:

fasfeiRe @-ciet faf evag Tea wes

(a) A consumer’s preference is represented by u(x,, x,)=2Inx, +Inx,. If the

budget constraint is Fx, + P,x, = M, determine the demand functions for
both the commodities.

GFT (OGRS SAFE T u(x,,x,)=21Inx +In x, | A6 AT
IR Bx, + Bx, = M 2, SIge 7t 73 51fEw wuerwa e fdfad 3

M Find the short run supply function for a profit maximising competitive firm

whose cost function is C = 0.04g° —0.84” +10g +5.

3 opfte efSrafonE IR Tl T8 @ TR €=0.04¢°-0.8¢% +10g+5
T, TG TR @M @ (&7 IR

The marginal revenue function of a competitive firm is given as

' MR =15-3x%. What would be the demand curve of the firm in the market?

*f efdraftone IEE FIok e ERAE wtorss @& MR=15-3x7,
@ e T oifEw @il A e

(d) Suppose that the net investment flow is described by the equation

I(t)=12¢" and the initial capital stock at time #=0 is k(0)=25. What is
the time path of capital k? Find the amount of capital accumulation during
the time interval [0, 1].

T Mo Rfeeae wfwwei 1(r)=12¢" @R T 1=0 (S, k(0)=25 T, °Q@
A k- 47 A A AR [0, 1] TRRN 704 e S150a +Afnet fefae
N

\(&/ Given  C=200+0.75(¥ ~T), / =200~ 25r,G=T =100. Derive the

1036

equation of the IS curve and its slope.
ex |iR C=200+0.75(Y ~T), I =200-25r,G=T=1001 IS (@
AN 93} O Bt fefy T

4x3 =12

3+1

3+1

Turn Over
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5. Answer any one question from the following:

fasfeie -t 9o v Tea wes

(a) In a two commodity framework, derive the Slutsky equation for a rational
consumer and show that own price substitution effect is negative.

i W7 WOER CFLq 9o+ Y& (ot AR Afiwaefd &t st e crare
@ AN AR 2o A

/(/K) (1) In a perfectly competitive market demand and supply curves of a
commodity are as follows:
P;=10~qg and P,=g+2
Find the consumer surplus at equilibrium price.
sifeforaiftor IeIaR Bfkw @ QR cred! TR
Py=10—q &R P, =g+ 2, SN WIN (@Ferd 558 et 3t
\}26 State the Euler’s theorem and show that this theorem is satisfied in

case of a Cobb-Douglas production function.

srzeta R (R I aR N8 (@ I3-TART Beolv SRR
cweg «ft &

6. Answer any two questions from the following:
frsferie @@t 7f6 et Sea whas

(a) (1) Show that the equilibrium input purchase levels for the following two
production functions Q,=L°K and Q,=L*K*+1.5logL+logk

are same when iso-cost line of the producer is given as 3L +4K =100.
Why is this the case?

crate @, sfere gt Sestve wieorws

Q=LK R Q,=LK*+1.5logL+logK-aT"a (HT TAMIAS
ToiratofeR SR SRR <t «32 AR T4 TR @4 A2 2
3L+4K =100 1 9FA @A ?

1036

8x1=38

6+2

4+4

15x2 =30

((8+2)+3]

B.A

1C
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(i1) Determine the domain over which the production function
Q=100(x, +x,)+20x,x, —12.5(x’ + x) is increasing and strictly

concave.

frferRs B STorss 0 = 100(x, + x,) +20x,x, —12.5(x + x;)- @R 5

(R e (37 FTAN (RN Berttwet = e (o10S A ¢k Ffezena

SRS | _ . 3
Sb)/(’lf In an economy the rate of income tax is 10%, average ana marginal T T5+10

propensity to save is 0.3. Government expenditure is Rs. 450 crores.
Autonomous investment is Rs. 90 crores. Derive the amount of budget”
deficit or surplus.

@I 43T SRS I 2T 10% ) 16 ¢ AT Fewey 23R T
03|WW4SOWWQ«WWNWMOWW|
S 6T At Bgrea +fw o 3

1i) Using Cramer’s rule find out the effect of a change in money supply
and change in tax rate on equilibrium values of income and interest
rate in the 1S-LM model.

1S-LM TSR SIREIN S 6 7 Boit el (@it Affaeiea ok S
AR RIS LS (AN @2 2 NG P FT3H

(c) The total cost function of a firm in a perfectly competitive industry \6’+3m
consisting of 100 identical firms is given by C; = 0.1g> +¢,+10.

(i) Derive the short run supply curve of the firm and the industry.

@3 feferafienEe IAwE @I SreR FEFR (b TH TAFS

C,=0.1g” +g,+10 T, SIS 6 I TSN oA SAFS

st 3w ' N
°/

(i) Find out the equilibrium amount of total profit and price if the

demand curve for the market is D =—400P + 4000.

% @R SR I D = - 400P + 4000 W, OR TEIAS @6 — 7

AR e 3rend Wi ey e

-

1036 7
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(iii) Determine the effect on equilibrium market price and output if the tax

(iv)

W

(i)

A

1036

rate of 5% per unit of sales is imposed.

I 5 WoR* YR ey 73 0 T T ©E@ AR VN ¢ AR Toig
2SI] 215 e

Do you think the firm will continue production if market price is Rs. 4
per unit?

o & 1w Ftat St Bestt 5ifeea aiee af s i 4 Stz 9

Suppose that a consumer’s income is payment for work performed by
him. Show with the help of the following utility function

U=Ly-0.1" -0.1y* (where L denotes leisure time and y denotes

income) how the optimum amount of work that he performs can be
derived from the analysis of utility maximisation.

A GFE (SISIT T T&T S HTd WR, O Iy e «Afnet [l
Torratieta iR T oheTt T Ot geate Tk Tt some’
et e

U=Ly-0.10 - 0.1y’ @RI L T TP TR GR y S AR
AR

Define Indifference curve and Isoquant in terms of set notation. How
many subsets can be formed from a set of # elements?

o6 Bra AR Feer® @l @R Sealesiva Q@ Re we | I et
(B n RS ToAM AE SR FOB ARG (oR I T 9
What will be the shape and curvature of the indifference curves for
the following utility function?

u=x>+y% x,y>0.
frsfeie Teicaifaet serssba ovta R @i il ¢ Iwer &
IR TA?

u=x'+y% xy>0.

8+(2+1)+4

[}



